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' B.P.Ed.

‘ -1st Semester
ANATOMY AND PHYSIOLOGY

| PAPER—CC-102

| Full Marks : 70

g .
! Time : 3 Hours

oo . :
The" figures in the right-hand margin indicate full marks.
[ ‘ . P 5 : o
and:liates are required to give their answers in their
| own words as far as practicable.
|

i 'Illustrdte the answers wherever necessary.

Answer aII questxons
1. What do you mean by cell ? Wnte down the function of
d:fferent cell Organelles.

Mentxon different types of muscular tissues present in
human body. 2+10+3
!

i ' Or

What do ydu mean by skeletal system ?

Write down the function of skeletal system.

Write down the Appendicular Bones with simple diagram.
2+3+10
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2. Write down the Composition of blood and mention
their functions. Describe the mechanism of blood
circulation through human heart. . (5+4)+6

Or

Describe the different parts of digestive system with
proper diagram.-How the carbohydrate is digested in our
digestive tract? 10+5

3. What do you mean by endocrine gland ? Write the names
of endocrine gland from where the following hormones are
secreted and enlist their functions. 3+(4x3)

(i Thyroid
{iij Adrenaline
- (iii} Insulin
Or

What is Vital Capacity ? Write the different organs o
respiratory system with diagram. 3+7+5

Write the structure and function of human kidney.
4. Write short notes on {any two) : 2x73

(a) Types of muscular Contraction. '

(b) Pulmonary Ventilation and Oxygen Debt.

(c) Effect of exercise on Circulatory system.

(d) Effect of exercise on Respiratory system.
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. Select the correct option from the following {any ten) :
P 10x1

(a). How many False Ribs’ found in human body ?
- {i) 5 pair fi) 7 pair
:‘(iii]' 3 pair {iv) 2 pair.
(b) Which of the following is the example of Saddle Joint.
(i) Elbow Joint (ii) Hip Joint
(ifi) Thumb Joint  (iv) Ankle Joint.
(ci Number of Lumber Vertebral Column is —
.‘! i) 12 (i) 7
.‘ (iii) 5 {iv) 4
(d) The cell organ responmble to produce energy dunng
muscular contraction is —
{i) Ribosome {ii) Lysosome
" (iii) Mitochondria (iv) Nucleus.
(?‘] Example of an Immovable joint is — -
: (i) Inter-vertebral Joint.
(ii) Sutures.
(iii} Hinge Joint.
| {iv) Pivot Joint.
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() Push against the wall is an example of —

(i) Iso-metric exercise
{ii) Isotonic Exercise.
(iif) Isokinetic Exercise

{iv) Concentric Exercise.

(g) Increase the number of fibre in the muscle as a result

of strength training is called —
(i) Hypertrophy (ii) Hypertension
(iii) Hybernation (iv) Hyperplasia.

(h) In anatomical language, the heart muscle also known

as —
{ij Myocardium {ii) Pericardium
(iii} Epithelium (iv) Endocardium.

(i) Largest bone in the human body is —

(i) Femur (i) Redius

{iif}y Ulua (iv)] None of these,

{iy Pacemaker of heart is —
{ij Epicardium (ii) Pericardium
{iii) S. A. Node (iv) A. V. Node.
(k} One complete heart beat duration is —

(i) 0.8 Sec. (i) 0.72 Sec.

(iii) 0.85 Sec. (iv) None of these.
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(lj The amount of air inhaled or exhales during each
inspiration or expiration is called — -

{i) Stroke Volume (iij Air Volume

(ii) Vital Capacity (iv) Tidal Volume,

I
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